Republic of the Philippines Province of Davao del Norte Municipality of Braulio E. Dujali -oOo-

Date: June 14, 2016 Invitation to Bid No. 16-06-105

INVITATION TO APPLY FOR ELIGIBILITY AND TO BID

The Municipality of Braulio E. Dujali invite duly licensed bidders to apply for Eligibility and participate in the Public bidding for the following item.

2nd Publication

PR NO.	PARTICULARS	APPROVED BUDGET COST	FUND SOURCE
300-16-01-018	Candle Making Supplies, Tools and Equipment	199,000.00	Trust Fund

STOCK NO.	UNIT	ITEM DESCRIPTION	QTY	UNIT COST	TOTAL COST
1	pcs	Bid Caldero (Ø) 20 inches	4	5,100.00	20,400.00
2	pcs	Stainless Caserola (Ø) 40 cm	10	2,780.00	27,800.00
3	set	Various candle molder	10	2,250.00	22,500.00
4	unit	Heavy Duty LPG Stove w/ hose & regulator	3	2,200.00	6,600.00
5	unit	LPG Cylinders with content (50 kls.)	3	3,000.00	9,000.00
6	kls	German Polythelene hardener	10	300.00	3,000.00
7	kls	Candle Coloring	5	2,500.00	12,500.00
8	kls	3-ply Wick	5	300.00	1,500.00
9	bot	Candle Scent (any kind of scent)	10	120.00	1,200.00
10	bund	Nylon Wick	10	2,200.00	22,000.00
11	sack	Parafin Wax	15	4,500.00	67,500.00
12	pack	Wick Sustainer	10	500.00	5,000.00
		TOTAL			199,000.00

Deadline of Submission Technical & Financial Documents	June 28, 2016 not later than 12:00 o'clock noon
	<u>June 28, 2016</u> at 2:00 o'clock in the afternoon at Conference room, Mayor's office, this municipality

List of Eligibility Documents are available during office hours at the BAC Secretariat Office, 1st floor, Municipal Hall. Bid documents with complete listing and specifications of the items for bidding shall be issued only to bidders upon payment of a non-refundable bid fee of Php 500.00 only

All particulars relative to the Eligibility Screening, Bid Bond, Pre-bid Conference, Submission, Evaluation of Bids, Post-Qualifications of the Lowest Calculated and Responsive Bid, and Bid Security shall be governed by the provision of existing laws, rules and regulations.

MBED reserves the right to reject any and all Bids, to waive any informality, and to annul the bidding process and reject all Bids anytime prior to the award of contract without thereby incurring any liability to the affected Bidders or any obligation to inform the affected Bidder or Bidders of the ground for MBED's action and accept such bid as may be considered advantageous to MBED.

For inquiries, clarification and more information, please call contact:

Ms. ERMALYN C. BONSO-GANOTISE, MPA BAC -Secretariat designate Cell # 09066561448 email add: justmacky143@yahoo.com

> RAFAEL L. ALCONES BAC Chairperson

Republic of the Philippines Province of Davao del Norte Municipality of Braulio E. Dujali -oOo-

Date: June 14, 2016 Invitation to Bid No. 16-06-106

INVITATION TO APPLY FOR ELIGIBILITY AND TO BID

The Municipality of Braulio E. Dujali invite duly licensed bidders to apply for Eligibility and participate in the Public bidding for the following item.

2nd Publication

PR NO.	PARTICULARS	APPROVED FUND SOURCE	
	FARTICOLARS	BUDGET COST	FOND SOORCE
300-16-05-065	Fuel, Oil & Lubricants	107,096.50	Trust Fund

STOCK NO.	UNIT	ITEM DESCRIPTION	QTY	UNIT COST	TOTAL COST
1	liters	Diesel	2,185	38.90	84,996.50
2	liters	Gasoline (Premium/Gold)	20	40.00	800.00
3	pail	Oil 10	4	4,500.00	18,000.00
4	pail	Oil 40	3	1,100.00	3,300.00
					-
					-
		TOTAL			107,096.50

Deaume of Submission Technical	June 28, 2016 not later than 12:00 o'clock noon
9. Einancial Documento	
Opening of Bids	<u>June 28, 2016</u> at 2:00 o'clock in the afternoon at Conference room, Mayor's office, this municipality

List of Eligibility Documents are available during office hours at the BAC Secretariat Office, 1st

floor, Municipal Hall. Bid documents with complete listing and specifications of the items for bidding All particulars relative to the Eligibility Screening, Bid Bond, Pre-bid Conference, Submission, MBED reserves the right to reject any and all Bids, to waive any informality, and to annul the

For inquiries, clarification and more information, please call contact:

Ms. ERMALYN C. BONSO-GANOTISE, MPA BAC -Secretariat designate Cell # 09066561448 email add: justmacky143@yahoo.com

> RAFAEL L. ALCONES BAC Chairperson

Republic of the Philippines Province of Davao del Norte Municipality of Braulio E. Dujali -oOo-

Date: June 14, 2016 Invitation to Bid No. 16-06-107

INVITATION TO APPLY FOR ELIGIBILITY AND TO BID

The Municipality of Braulio E. Dujali invite duly licensed bidders to apply for Eligibility and participate in the Public bidding for the following item.

2nd Publication

PR NO.	PARTICULARS	APPROVED BUDGET COST	FUND SOURCE
100-16-04-311	Fuel, Oil & Lubricants	58,140.00	General Fund

STOCK NO.	UNIT	ITEM DESCRIPTION	QTY	UNIT COST	TOTAL COST
		Construction of 270 sq.m (15mx18m) Solar			
1	liters	Gasoline (Premium/Gold) for one bagger	60	38.00	2,280.00
2	liters	Diesel for hauling of filling materials, backhoe for	600	28.50	17,100.00
		Construction of 270 sq.m (15mx18m) Solar			-
1	liters	Gasoline (Premium/Gold) for one bagger	60	38.00	2,280.00
2	liters	Diesel for hauling of filling materials, backhoe for	600	28.50	17,100.00
		Construction of 270 sq.m (15mx18m) Solar			-
1	liters	Gasoline (Premium/Gold) for one bagger	60	38.00	2,280.00
2	liters	Diesel for hauling of filling materials, backhoe for	600	28.50	17,100.00
		TOTAL			58,140.00

Deaume of Submission Technical	June 28, 2016 not later than 12:00 o'clock noon
& Einancial Documents Opening of Bids	June 28, 2016 at 2:00 o'clock in the afternoon at Conference room,
	Mayor's office, this municipality

List of Eligibility Documents are available during office hours at the BAC Secretariat Office, 1st floor, Municipal Hall. Bid documents with complete listing and specifications of the items for bidding All particulars relative to the Eligibility Screening, Bid Bond, Pre-bid Conference, Submission, MBED reserves the right to reject any and all Bids, to waive any informality, and to annul the

For inquiries, clarification and more information, please call contact:

Ms. ERMALYN C. BONSO-GANOTISE BAC -Secretariat designate Cell # 09066561448 email add: justmacky143@yahoo.com

> RAFAEL L. ALCONES BAC Chairperson

Republic of the Philippines Province of Davao del Norte Municipality of Braulio E. Dujali -oOo-

Date: June 14, 2016 Invitation to Bid No. 16-06-108

INVITATION TO APPLY FOR ELIGIBILITY AND TO BID

The Municipality of Braulio E. Dujali invite duly licensed bidders to apply for Eligibility and participate in the Public bidding for the following item.

2nd Publication

PR NO.	PARTICULARS	APPROVED	FUND SOURCE	
PR NO.	PARTICULARS	BUDGET COST	FOND SOURCE	
100-16-04-293	onice Supplies (2nd & 3rd atr.)	146,090.00	General Fund	

STOCK NO.	UNIT	ITEM DESCRIPTION	QTY	UNIT COST	TOTAL COST
1	box	Acetate A4	2	450.00	900.00
2	box	Acetate Legal	1	370.00	370.00
3	can	Air Freshener,280ml/can	10	105.00	1,050.00
4	Btl	Alcohol 70% 250 ml	5	20.00	100.00
5	btl	Alcohol 70% Isoprophyl, 500ml pink color	12	60.00	720.00
6	btl	Alcohol 70% solution 500ml	33	60.00	1,980.00
7	pcs	Ballpen Green	8	10.00	80.00
8	pcs	Ballpen Blue	44	10.00	440.00
9	pcs	Ballpen red	8	10.00	80.00
10	pcs	Ballpoint pen (black)	781	10.00	7,810.00
11	pck	BatteryB AA Alkaline 2 pcs/packet	1	30.00	30.00
12	box	Carbon film A4 Black	1	150.00	150.00
13	box	Carbon Film Legal size black	2	300.00	600.00

14	box	Clip Backfold, 19mm (3.4"), 12's	2	15.00	30.00
15	pck	Construction pper assorted 20pcs/pack	5	30.00	150.00
16	pcs	Correction Tape	151	30.00	4,530.00
17	roll	Cover Cellophane	1	695.00	695.00
18	box	Data File box	19	100.00	1,900.00
19	pcs	Dater Stamp w/ received self inking	1	300.00	300.00
20	roll	Double sided tape (1")	6	50.00	300.00
21	pcs	Envelope, Expanded brown (long)	4	20.00	80.00
22	pcs	Eraser rubber soft	8	10.00	80.00
23	pcs	Expandable Folder long green	180	20.00	3,600.00
24	box	Facial Tissue	3	100.00	300.00
25	pcs	File Organizer	3	200.00	600.00
26	set	Flourescent Marker	4	45.00	180.00
27	btl	Glue	16	60.00	960.00
28	pcs	Green Expanded Folder long	2	20.00	40.00
29	pack	Linen paper legal size, 220 GSM, Non-Glossy	7	50.00	350.00
30	pck	Linen paper short	5	40.00	200.00
31	pck	Manila Paper 100/pck	1	130.00	130.00
32	pcs	Note pad 2 x 3" color	5	40.00	200.00
33	ream	Paper bond A3	2	750.00	1,500.00
34	rm	Paper bond A4	316	120.00	37,920.00
35	rm	Paper Bond Legal	290	130.00	37,700.00
36	box	Paper clip 50mm	11	50.00	550.00
37	pck	Paper Fastener Non Rust Metal-big/long	5	90.00	450.00
38	pck	Paper Fastener Non-rust metal	34	50.00	1,700.00
39	box	Paper Fastener Plastic	10	40.00	400.00
40	pcs	Permanent Marker Pen Black (broad)	35	40.00	1,400.00
41	pcs	Permanent Marker Pen Blue (broad)	6	40.00	240.00
42	pck	Photo Paper 12pcs/pck	10	120.00	1,200.00
43	box	Push Pins	10	25.00	250.00
44	book	Record Book 500 pgs. With "Official Record" print	26	100.00	2,600.00
45	btl	Refill Ink for Permanent Marker	1	80.00	80.00
46	pcs	Ring Binder 19mm x 1.12m Plastic, assorted color	10	25.00	250.00
47	pcs	Ring Binder 24mm x 1.12m Plastic , assorted	2	35.00	70.00
48	box	Rubber Band # 18	1	90.00	90.00
49	pcs	Ruler 12" Plastic Hard	1	25.00	25.00
50	pcs	Scissor big	15	75.00	1,125.00
51	pcs	Sign pen .5	206	50.00	10,300.00
52	pck	Special paper A4 by 20pcs/pck	3	80.00	240.00
53	btl	Stamp pad Ink violet 50ml	2	35.00	70.00
54	pcs	Stamping dater, Automatic, w/ Ink Pad 3.5cm x	1	550.00	550.00
55	pcs	Stapler heavy duty w/ remover	4	125.00	500.00
56	pcs	Stick Glue-big	10	10.00	100.00
57	roll	Tape Transparent 1" 50m	11	35.00	385.00
58	roll	Tape Masking 1 inch	5	35.00	175.00
59	roll	Tape Transparent 2"	5	40.00	200.00
60	pck	Toilet Tissue 12 roll/pck	34	100.00	3,400.00
61	pck	Transparency film OHP A4-Super fax	1	275.00	275.00
62	pcs	White board marking pen black refillable broad	12	35.00	420.00
63	ream	White wove mimeo paper A4	69	110.00	7,590.00

64	rm	White wove mimeo paper legal	27	120.00	3,240.00
65	rm	White Wove Mimeo Paper short	5	120.00	600.00
66	rm	White Wove Mimeo Paper short (light blue)	5	120.00	600.00
67	rm	White Wove Mimeo Paper short (pink)	5	120.00	600.00
68	pad	Yellow pad	12	30.00	360.00
		TOTAL			146,090.00

June 28	, 2016 not later than 12:00 o'clock noon
Opening of Bids	<u>, 2016</u> at 2:00 o'clock in the afternoon at Conference room, office, this municipality

List of Eligibility Documents are available during office hours at the BAC Secretariat Office, 1st floor, Municipal Hall. Bid documents with complete listing and specifications of the items for bidding All particulars relative to the Eligibility Screening, Bid Bond, Pre-bid Conference, Submission, MBED reserves the right to reject any and all Bids, to waive any informality, and to annul the

For inquiries, clarification and more information, please call contact:

Ms. ERMALYN C. BONSO-GANOTISE BAC -Secretariat designate Cell # 09066561448 email add: justmacky143@yahoo.com

> RAFAEL L. ALCONES BAC Chairperson